EXFPNZGEEE (R

 RIELEARESR
AHEHE)

)L T EIL

(B)SF5F481H(E)SFI6EIH3I1H
EERE B (A)
i EEFEHIRAGO) 78,904,458
= | BEFEHZHE(2) 77,710,496
Z EXTHRZELREB)=>1)—(2) 1,193,962
= |BERFESMURAG (4) 457,070
g EE 31 LS Ri6) 1,506,621
o | BEFEHSNINZEEE(6)=(4)—(5) A 1,049,551
BREINZZEEZE(7)=(3)+(6) 144411
;ﬁ HBIURA S (8) 0
Iw |$FRIX HET(9) A 1144174
X |#RIRFEE(10)=(8) —(9) 1,144,174
LHEEEINEEEON1)=(7)+00) 1,288,585
£;= BT EBUE BN ERE(12) 71,291,467
=z [MHAREBESRZEE(13)=01)+12) 72,580,052
Jijjy EARLEGEE(14) 0
% (BEAEHEAZE05) 0
?E ZDMOHE T SR (16) 0
O |ZOMDIEILIEITEE(17) 0
hvd
AP Rk R eI ZZE(18)=(13)+(14)—(15)+(16)—(17) 72,580,052
. #HE@iEAN BWES 55
N = A= 3

EXTFHINZAEE(SETESE)
_ (B)THI55F4H 1 B(E) THI65F3A31H
_ EER B (H)
; EEFFIAGT ) 1,808,785,915
= EEFEHTHE(2) 1,798,638,286
| & [BEFHIREEZEB)=1)—(2) 10,147,629
3 [BEFEIMNRAG (4) 11,317,017
z EXFEINZHETG) 21,164,417
n |BEEFNMNZEEE(6)=(4)—(5) A 9847400
BEINZEZE(7)=(3)+(6) 300,229
;?I AR AET (8) 15,564,038
BRI HET (9) A 14462712
% [BRIUREZEZE(10)=(8)—(9) 30,026,750
_ SHESRZEE(11)=(7)+(10) 30,326,979
f{; AIEARR R BN EEE (12) 543,935,770
= | HEXREHEHINEZEZEOIN=01)+02) 574,262,749
i EARXEHRAE(14) 0
2 [ BEXEHEARE(5) 0
= [(FOMOBEIEREEZE(16) 0
2z DOIEIRTE 2 (17) 13,000,000
g | REEEESHINEZZEE(18)=(13)+(14)—(15)+(16)—(17) 561,262,749




B ER(RE

\%

FHAE)

SFI6EIHA3IBARAE

B 2 D) ah _ EREDER ]

- (M) (FH)

RENEE 838,431 530 A& 931,743,541

& E & 2,970,491,619|EEEE 1,184,236,644
(NER) BEARBAEE 1,908,606,592
FOHMDOETE S & 1,022,069,017

ZTDMIEILTES 39,816|BEDEEET 2,115,980,185

T & 7 0D Bh

EXE 79,957,611

EE#HBEERIELE 907,249,714

ZDMDIELE 144,492,890

REAIE R E BN T = KB 561,242,749

MEEDISE 1,692,942 964

BEDHE 3,808,923 19[EBRUMEENIEET 3,808,923,149




